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No IBGIP | A | IBGRIP | A | IERP | RA | JERP | RA | JERP | FA | IERP | RA | IERP | FA | JERP | FA | IEMGP| FA | IEMEP| kA |IEEP| #HA Fsk
142|585R  F0F BARBEMEFHE 3| 1,254 19| 1,697 6| 1,376 28| 4,327 3
12|17 3 BAMEAEIHE 41 1,378 3| 1,108 19| 2,195 26| 4,681 3
108[F1E WY BARFRERS 17| 1,537 5| 1,300 4| 1,221 26| 4,058 3
154|HE Kb HBIEBBFHILF ¥ — 3| 1,193 15[ 1,589 7| 1427 25 4,209 3
130[&4a IE# BARERE RS 13| 1,481 6| 1,426 5| 1,246 24| 4,153 3
19|t Kt BARRMREHE ML 2| 1,130 5] 1,411 15[ 1,634 22| 4175 3
125|f E#HF BAREREREHE RILS 0 0 5] 1,267 11| 1,576 16| 2,843 2
135|FHiR  *& BARSARBEHE 5| 1,428 6| 1478 3| 1,139 14| 4,045 3
139|472 A BARFARBE RS 9| 1,443 0 0 5| 1,265 14| 2,708 2
123|8REA #LF BAEEREHSs RIILES 41 1,258 6| 1448 2| 978 12| 3,684 3
184|lLA i BARFEARE S TEXI 3| 1,214 7] 1512 2| 922 12| 3,648 3
137|EF  F AARKERE RS 41 1418 6| 1,501 1| 899 111 3,818 3
150|090 HEF BARKERE RS 2| 1,080 5| 1414 4| 1,226 111 3,720 3
143[# £ =F BABREREHE SIILEE 4] 1,283 411217 2| 931 10| 3,431 3
138[¢4TEEEE BARFABHE 1 947 3] 1,083 6| 1,307 10| 3,337 3
163[AT H#EF |BABREMEHSs #HEDR 1| 931 3| 1,009 6| 1,286 10| 3,316 3
140|541 KB BARERFHE A5/0R 2| 1,058 0 0 6| 1,390 8| 2448 2
110|L5m EF BAEEREHS AR 1 819 3| 1,077 3] 1,150 71 3,046 3
107|415 @7 BABREMEFHE H35/83X 3| 1,175 4| 1,144 0 0 71 2,319 2
128| &% FEA BABREMRFHE itnEnE 0 0 2| 1,036 5| 1,251 7 2,287 2
131|EH F=E BARFEAREHE 0 0 1 950 5| 1,242 6] 2,192 2
109|3kf EF BAEEREHS #ABR 1 795 2| 1,037 2| 986 5| 2,818 3
155|510 RIEF |BARERREHS HAR 2| 1,147 0 0 3| 1,152 5[ 2,299 2
178|/NgE RF BAEEREHE H35/80dX 0 0 2| 1,038 3| 1,066 5| 2,104 2
141|880 S&F BAEEREHS RIILES 0 0 0 0 4| 1,223 4] 1,223 1
120( 85 REETF BABREREHE SIILES 0 0 0 0 4] 1,199 4] 1,199 1
10L] (1] - BAREREHE SIILEE 0 0 41 1,127 0 0 4] 1,127 1
148|158k #F BABRERTHE 0 0 4 1,111 0 0 4] 1111 1
124|48F E BAEEREHSE RIS 0 0 1 772 1| 833 2 1,605 2
1653/ fEF BARERMTHE SAB 0 0 2| 961 0 0 2 961 1
183[lBAEF BARERFHE #H35/80% 0 0 1| 358 1| 550 2 908 2
106|@:& MHF BARFABHE 0 0 1 889 0 0 1 889 1
170|3# £ &F BABEMEHE A3/83X 0 0 0 0 1| 870 1 870 1
997[R &Y TA (BERT) 0 0 11 ] 1,520 0 0 111 1520 1
998|242 7B (BERT) 0 0 0 0 0 0 0 0 0
999(R 4w TC (BEXRT) 0 0 0 0 0 0 0 0 0




